+B0316+16
KXB1535+139_
OB1638+ 124

Gain [K/ﬁ? (O N

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jul19 to 31jul19 all freg

120 pnts. Gain K/Jy

12 —
- + ]
10— ¥ FIG 1
C + L+ X 5 o X ]
8 ‘F%i + * gg%é HOK ¥ X K X N -]
C ++ L F % o % X oy ]
s + ® ¥ x * ;
- I ]
ae E
2 + 3
O: | | | A7 NANZAN A NZ N2 NZ NN N2 | N 4 L N2 N/ | N N4 :
0 5 10 15 20
za
Tsys
S50 T KKK P K ¥ K ¥ 7T > -
= ¥ x . X X v X 0 ;i -
45 T+ + %%&@%%%@%W%% £0x 2800 Mpz - x § X % =
- Tt o+ %ﬁ*%x%%% O ¥ K >K * X K =
= + =
35 —
30— —
25— —
20E ‘ ‘ ‘ 3
0 5 10 15 20
za
Sefd
120 ‘ 7
o - .
u *¥ a
C X ¥ m
8 X XK 7
- o+ Tw oo % x X X x5 x 3
6 44+ 4 §§§%K>K§E %{ji w KoK K K x X » ¥ * 7
- b bt melp ik ook Lx ok K ]
L }%%%K;&%% gé X HéC%K ¥ _]
47 J—
- X X 7
21— —
O: 1 L n n n | | :
0 5 10 15 20
za
AvgBmWidth
150 E w =
140 & E
130 R Kex ¥ X o Fxx % ¥ x o« x5
= + + +,4’ %%ﬁ% K ¥ % =
120 & =
= + n E
110 E- * —=
= X X X K o ¥ X ¥ X E
E X X X K X N =
= - KE KX KX KK X X ¥ =
90E- E
80E ‘ ‘ ‘ E
0 5 10 15 20



+B03

5354139

16+162

Gain [K/é?]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jul19 to 31jul19 2212 Mhz

30 pnts. Gain K/Jy

12 —
1o . FIG 23
C K s K X ¥ l
C n £ # ]
sl 4+;k +7‘F + ¥ K ¥ % » . . -
: X X % 7
6— -
4= —
2 —
O: | n n n n | Il " :
0 5 10 15 20

za

Tsys
50: ‘ -
Ty X x X =
- x ¥ K ¥ 7
- wt 1 Rk TR R K X ]
35 —
30— —
25 —
20E ‘ ‘ ‘ .
0 5 10 15 20

za

Sefd
120 ‘ 7
10— —
8 —
- ¥ ® 7
Nl » ¥ i
L N X —
E THE 4+ ok ek K 30K o KX E
2~ —
07 | n n n n | Il ]
0 5 10 15 20

za

AvgBmWidth

150 E ! E
140 E- =
1502— + 4 s, Ky X, X Xy % X « w " » N é
= Lt + o T O ¥ =
120 E- =
Moi— é
wooi— é
90 E- =
80 E ‘ ‘ ‘ E
0 5 10 15 20

zda



+B0316+162

XB1535+ 139

Gain [K/&?]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

10

O1jul19 to 31jul19 2380 Mhz

AV NVAVAN'A N NZ NZ L NZANNZL N 1

30 pnts. Gain K/Jy

FIG 3

o

zda

N

50

45

40

35

30

25

20

Tsys

o

zda

N

»
H\‘H\‘\H‘\H‘\H‘H\

++

Sefd

o

5 10
za

N

150

140

130

120

N
o

100

<o)
(@)

o
(@)

AvgBmWidth

© H\HHH‘\HHHH‘\HHHH‘HHH\H‘HHHH\‘\HHHH‘HHHH\

zda

N \HHHH‘HHH\H‘\HHHH‘\HHHH‘HHHH\‘\HHHH‘\HHHH

0

0

0

0



+B0316+162

O+ 139

Gain [K/ﬁ}]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jul19 to 31jul19 2850 Mhz 30 pnts. Gain K/Jy
12 —
10 FIG 47
E X =
8 X X K N
- B u f X% x -
C N% »: 1
C X ]
4= -
21— —
O: 1 1 1 :
0 5 10 15 2
za
Tsys
S0F ATFRX KT K K KR v X % ATTR 3]
45— —
40— —
35 —
30— —]
25 —
20 ‘ ‘ ‘ =
0 5 10 15 2
za
Sefd
121 ‘ ]
10— X —
N ¥ 7
8 v X . -
- Sox ko KL K ok XK XK ]
61— X7 K K X -
4= —
2= -
07 1 L L L L 1 1 ]
0 5 10 15 2
za
AvgBmWidth
150 E ! E
140 & E
1502— é
moi— é
Moi— é
= ¥ ¥ E
100 £ B K x K X o ¥ K X K ox oy X E
90 %7 ‘%
80E ‘ ‘ ‘ E
0 5 10 15 2

zda

0

0

0

0



